


 There are two important quantities to 
determine in the economic analysis of a 
process: 

◦ Total Capital Cost (toplam sermaye maliyeti) 

 is the amount of money to build a plant or facility 
and includes all equipment and labor associated 
with installation of the equipment.  

 

◦ Operating cost (işletme maliyeti) 

 represents the annual expenses to keep a plant or 
facility in full production. (cost of feedstock, fuel, 
labor to operate the plant and payment of 
principal and interest on loans) 

 

 



 

 

 It is equal to sum of fixed capital cost (Sabit 
Sermaye Maliyeti) and working capital cost 
(işletme Sermayesi). 
 



 Fixed capital cost can be categorized into 4 
groups: 
◦ Direct project expenses (doğrudan proje giderleri) 

◦ Indirect project expenses (dolaylı proje giderleri) 

◦ Contingency (beklenmeyen giderler) 

◦ Auxiliary facilities (yardımcı birim giderleri) 

 



1)Equipment cost 
◦ FOB (free on board) 

 Tedarikçinin malzemeyi nakliye 
yapılacağı geminin güvertesine taşıyana 
kadar olan sorumluluğunu içerir.  

http://tr.wikipedia.org/wiki/Nakliye


2)Materials for installation 
◦ İnstallation can require considerable materials:  

steel, concrete, electric wiring and control panels 
for motors and piping and valves for water, gas and 
steam utilities.   

3)Direct labor cost (Kurulum için gerekli olan 
işçilik giderleri) 

 



1) Tax: Ekipmanın vergisi 

2) Construction overhead: inşaatın ek 
giderleriinşaat için kiralanan makineler vb. 

3) Engineering expenses: Mühendislik 
giderleritasarım mühendislerinin maaşları, 
ofis giderleri 

 



 It refers to unexpected expenses on a project 
(weather related delays, construction errors, 
poor estimation of costs etc.) 



 Administrative offices 

 Laboratory 

 Maintenance shop 

 Warehouses 

 

These costs may not be required for every 
project. 



 In addition to fixed capital cost for the 
project, a sum of monet called the working 
capital must be invested to get the plant 
into operation. 

 

 It represents inventory of raw material and 
usually 10-15% of fixed capital cost.   



Grassroots 
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 Working capital= 

(10%-15%)* Fixed cost 

 

 Total Capital Cost= Fixed Cost+ Working 
Capital 

 



 Once a plant is constructed, funds are 
required to operate the plant.  

 Operating costs are determined on an annual 
basis. Once the total operating cost is 
determined, it is divided by the annual 
production output  to determine the annual 
production cost.  

 (Hesaplanan yıllık işletme maliyeti, işletmenin 
ürettiği yıllık ürün miktarına bölünürse 
birim ürün maliyeti hesaplanmış olur. ) 



 Direct Operating Cost  
◦ Raw Material (Ham madde) 

◦ Operating Labor (İşçilerin maaşları) 

◦ Supervisory Labor (Yönetici maaşları) 

◦ Utilities (Altyapı hizmetleri) 

 Elektrik, su, doğal gaz, buhar giderleri 

◦ Maintenance & repairs (bakım onarım) 

◦ Operating supplies (Sarf malzemeler) 

◦ Laboratory charges (Laboratuvar 
giderleri) 

◦ Patents and royalties (Patent ve lisans 
giderleri) 

 



 Indirect Expenses 
◦ Overhead: işletme ek giderleri (işçilerin 

ücret dışı ek ödemeleri ile ilgili) 

◦ Taxes (Vergiler) 

◦ Insurance (İşletmenin sigortası) 

◦ General Expenses (Genel giderler) 
(yönetim ve pazarlama ile ilgili) 



Eğer işletmenin kuruluşu için kredi 

alınmadıysa  annual capital charges =0 


